Mountain Top® Roll



| | Kits 824060

Manual TOV

X6 ¥ 1 ¥ 1

T | | its 824064

X 24 X6 X6 X6

2/27




|| | Kit# 824088 . Kit # 824 087

X6 X6

X2

% . Tools and materials needed

1-25Nm

Rust protection
Rostschutzmittel
Amti-rouille

Anti roest

0 Applying rust protection

&

LILLSTEI_I_N5 3/27

CONCEP



4/27 ®)) ULLSTEIN

EEEEEEEE
GMEH



®) ULLSTEIN 5/27

CONCEPTS
GMEH



GMBH

 ULLSTEIN
CONCEPTS

6/27



@ |\

=

7/27



0
Ju
tnZ

8/27 @ ULLS

n]
4



9/27

ULLSTEIN
CONGEPTS



o7 @) vmay



®) ULLSTEN 11/27



W
o v/
Wy «\
ﬂf
0
@ H,,f,
,,,,,
E-',,,,,,
\
) \!
. /f ,,,,

 ULLSTEIN
DDNEEEEM-FE%

12/27



13/27

ULLSTEIN
CONCEPTS

)



ULLSITEIN
CONGEPTS

)

14/27



15/27

ULLSTEIN
CONCEPTS






17/27

 ULLSTEIN
DDNEEEEM-I-E%












21/27

ULLSTEIN
CONCEPTS



ULLSITEIN
CONCEPTS

22/27



@) ULLSTEIN 23/27



ULLSITEIN
CONCEPTS

24/27



25/27

@) ULLSIEN



 ULLSTEIN

CONCEPTS
GMEH

26/27



+15000 km

»+15000 km ---.

27/27



ULLSTEIN

CONCEPTS
GMEH

Ullstein Concepts GmbH
BahnhofstraRe 20

85416 Langenbach
Germany

0049 (0) 89 8099 02 880

0049 (0) 89 8099 02 881
e-mail: service@ullsteinconcepts.com

PART MUMBER(S) MODEL / YEAR CAB TYPE(S) INSTALLATIOMN TIME WEIGHT

MTR MNI90/9N Missan / 2015 — Double / King 2 hour(s) 31Kg
MTR MB 90 Mercedes X-Klasse 2017 Double 2 hours 31 Kg




Mountain Top®

SSSSSSSSSSSSS

Sports Bar - Adapter kit

Installation manual

PRINT FORMAT: A5 BOOKLET
© 2018 Mountain Top Industries APS |SS U E 02 / 06/09'201 8 / MTI 889 090



X 1

REAR LEFT

X 1

REAR RIGHT

X 1

FRONT LEFT

FRONT RIGHT X1

X 6
M6x12 X6 | M6 X6 | M6x12 x8 | M6 x 14
— N\
Ca
= ]
-
—

5 mm

02/22

MTI1 889090 / ISSUE 02



03/22

ISSUE 02

MTI 889 090 /



04/22 MTI1 889090 / ISSUE 02



05/22

MTI1 889090 / ISSUE 02



MTI1 889090 / ISSUE 02

06/22



A
&

07/22

MTI1 889090 / ISSUE 02









MTI1 889090 / ISSUE 02

10/22



11/22

MTI1 889090 / ISSUE 02



MTI1 889090 / ISSUE 02

12/22






MTI1 889090 / ISSUE 02

14/22









MTI1 889090 / ISSUE 02 17/22



MTI1 889090 / ISSUE 02

18/22



19/22

MTI1 889090 / ISSUE 02



MTI1 889090 / ISSUE 02

20/22



21/22

MTI1 889090 / ISSUE 02



(@ft)(Oommm
N _.

MTI1 889090 / ISSUE 02

'gxm]

22/22






Customer Service +45 4810 2950 (08:00 - 16:00 CET)

Fax +45 4810 2960
support info@mountaintop.dk
.\)\'/'é'l‘osne """""""""""""""""""" WWW moq'ﬁ"talntopm(‘ﬁlﬁl"(
Add ress Pede};holmpa}ken 10, 3600 Frea‘é‘rlkssur']‘a,‘ Denmé}'l"(

PART NUMBER(S) MODEL / YEAR CAB TYPE(S) INSTALLATION TIME WEIGHT

SB 0020 Mercedes Benz X-Class / 2018 — Double Cab 1 hour(s) 16 Kg

u Einbauanleitung

(oAl Navod k instalaci

LW Montaj Talimati



